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A Less Trivial vesolution ;omaf

. Woowe Likes anyone of whom he is afroud
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2. No-owe Likes anyone who does ot bike how
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3. All paransiels are afrwd of everyone excepl thr friend
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Todsustive arqument :

o From 3, all paranoids are afywid of everyome
cxeq'f ﬁ"ﬂ" f'gﬂl{f , So ‘/ | they l/on'?(&b anyent
except thew friends, So by 2, everyone but «
pumnoc'l s fnau(c oiclike hew

o But by Y there is a pacanod, & so Jy He
prcn'«{x argument all hid hit ;n'cm(: Aslkee
him ; and siee all hix énz;uﬂ are parwnoit,
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Gorade: Study the wmathematical exanple
T (group Beoty) in the notes .
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Fucding the w.g.u.of (,-,0), ()., Tn)

|- Staudardize apacl
2. mgu = ()
3. Scan thelisk v parsllel, left +o right
a. If end of listt is reached, refern mqu
(c.e, suececsful exit, evew if myu = ()
b. If curront symbols inentical, continue af (a)
with the next pair (¢, advmete poristere)
C. IF neithersymebol (¢ & variabley vefum FRi-
A. One sywbol ic a wariable v, el the gther
i's the k’o'mm’cg mu'e :zyrn: ¢ (a varialle,
eonsiant, or fumctional exprection ).
, Tf v occurs BT, refurm FAl  “occurs-check'
O i rsaploet
(' ) 1 ]
oot licte, frows the currout posdere foruent
(i) move the poiiniers over the (maw
identcal) T Jerne

. eq, (% F(0)) (9.y) can't be unified
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Unificakion ex ameple

P[‘[’[‘)'tl hﬁ't), “' k(‘,tl“))
2 PLv, W, miw), % n(W3), Y)

facbriwam,/e
Ply, % W PlECry 2%V PEEA), B1x)

i_’;rmal ;{m‘emenf of resolutwou (nare)
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where (0., %) , (%), Thk) are um'ft'a“ with mpu '§

K2 alral, efe
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Deduchve Problem S‘dwhai% RA.

Cordsll Greew (ITCAT 68, Hach Zut. %5) :

o Sl & problem. ov answer & guertion,
(. prove that & solution /answer exichs
2. extract solutionfanswer from wmriable

bindings of The proof .

Yes-uo J;uesﬁou g
Hake “parnllel* atlempk fo prove o
disprove the proposiiou guestion
> Yes, WO
‘P? __,re{ule 'N(—-) yes

~ refule p —> no

Reconsider Swoopy pmffu : Does sumte x Lark
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Wh- Questions (*fill i the blank(y")

s,

I. V. At (Bob,x) At (Lardl, x)

2. At(Bob, Dance)
A Where is Carel?

Prove : There exislk goi‘b‘z?e where Carel
S At (Carel,x)

Dewiml : = Ix At(Cardl, x)
3. e, V. 2At(Carol,x)

Refuutotion 8 Ans - ex traction

l. 7 At (Bob,x) v At (Can(, x) 5c;cu
2. At (Tob, Dance) g (ven

Carel ik where-
ever (Tob s

Bol ¢ at Mhe Aance

3. VAt (Carol,x) v Ans (x) dewcad
L. At (Carol, Dance) rlis, 2l
$. Ov Ang (Dance) r[3.v]
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Crool answers, pad answerc
&S, [ YxTy. Works- x,)) Everyone workt for someont
2. Werks-for(Bok, Carv()  Bob works for Carsl
6. : Ix. Worksfor(Bobx) Who Aves Bobuwrk for 7
denial: V. TWerka-for (Reb,x)
fﬁ".ﬁﬂi’iﬁ- _— emploger-of
(. worb-for{x, f(4) ’lVéA
r 1R M'ﬁ'(&‘, Grrel) §'ven
3. Werkfor(Bob, ) v Ans(x)  enial
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ally : try Jo get Skolowm-free aniwerd
aet:;e';are‘;emg 'on,o sheps ﬁwf{ Aow't subciihute
Skelem con !&nk fuuc\‘iaom wto the auswles.

$ be Skolew ancwers —
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